. R ABC#Fre zyx 2, 41 DEF s 7R ?

?

If the code for ABC is ZYX, what is the code fOf DEF VWU (D) uvw/

(A) vur (B) WVU ©
2. STOU W gm g AT | ),

Find the dissimilar pair of numbers. u('

4 12 2 8 "*;czﬂ ™ 53
@ 3.3 ® i WO 5’3(; ;
& wfoder Fear 2 o fe=oe O g

3. @W(W)@mﬁam@%ﬁ)w
e (sfrarcteer gren) armar @ | @ foba wwac (S ) QT Tl 2

A plane intersects a regular tetrahedron in such d Way that the intersection forms an equilateral triangle,

How many such planes can do this ? (&)
A) 4 (B) 1 ©) 2 (D) 3

wﬁawﬁrﬁﬁﬁéﬁlﬁmfm%aﬁaﬁ{%lQﬁ,ﬁw%aé’mﬁ%ﬁ%rzsr%wﬁﬁ%lﬁzﬁ,qd’raﬁrzh
FATd | TEAIWE IR ?

(A) ¥ ®) ¥ _(C) wl (D) T

Four friends are sitting in a row. Sam is to the nghtof Tom. Amy is to the left of Tom but not next to him.

Rick is between Amy and Tom. Who is sitting at tﬂ@ﬁfar right ?
(A) Tom (B) Sam (C) Amy (D) Rick

5. IRUAT 800 F T wgheRe Wit 3 I T 920 lﬁaﬁm | SEEHT T T T 2
Arun bought a cycle for ¥ 800 and then sold it for T 9{20 What is his profit percentage ?

(A) 10 B) 15 {C) 20 (D) 30
{ )
6. Frafafaad & fowm sig) A gFT | pes
Pick out the odd one from the following. o
3,5,7,9,11,13,17, 19
A) 9 (B) 3 ©) 17 (D) 19

7. TEAHCALATRR mﬁwéﬁwmﬁm%mﬁmﬁrﬁﬁﬁé%ﬁmﬁm
72 =t | a4

A figure is given. You have to identify which aﬁj_g‘ng the following pieces is not required to make this
figure. { ‘

2
£

&1 3T / Given figure : A
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'Y W e -
‘Ind the 0odd one out. o
(A) ) o
(By ! (©) D)

9. <]
T e & x AR iy
Find x from the given series. 4\.‘_:’
64, 57, 50, X, 36, ... @)

(A) 42 (B) 43/ (C) 44 (D) 48

10. mﬁmmmaﬁﬁql

Find the next number in the series. O
280, 275, 265, 245, ... o0
(A) 205, (B) 210 ‘; ’)(C) 220 (D) 215
1. oy fepedt & & e (3sfte) = 30 e | o
(A) frewes (B) &R o) s (D) FHhIS
Find the odd one out from the given alternatives. <.,
(A) Milkshake (B) Burger ()(C) Pizza (D) Cookies
_ )
12. ?
N /I
7
ﬂ%ﬁﬁwﬁmﬁﬁmmﬁmwm |
Find the next figure in the above series from the oetgons given below.
e
' %
I I I v O v
(A) IV (B) V. @(©) 1 (D) 11

sl § ST BT i J1a Hifor |

Find the next figure in the series.

13.
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14. JEAH @ favg @) M@ HRm|,
Find the odd one out in the series. ol
B4, D16, F38, H64, J100 } 6
(A) He4 ®) Fg /. (O B4 (D) DI
S
. . . | N
15. ATH{a & Brisi i @31 314 iR ! O - o
d >
Find the number of triangles in th ! ™ N
gles 1n the figure. A (/ 445 >
./ . () Ac
(A) 16 (B) 12 () (© 18~ (D) 14
16. @Wﬁ@%ﬁﬁ@t%ﬁ@mﬁw gy wt Y seheil 3T H0 AT ] 17 AT 39 e ¥
fre TR EEEa R 2 1
(A) ST (B) ueht (C) =& (D) wistt,~
Pointing to a man in a photograph, Asha salci “His mother’s only daughter is my mother.” How is Asha
related to that man ? ,,__!
(A) Nephew (B) Wife (C) Sister (D) Niece
(.
17. FrafaRes & & ffemwrgfw) &)
Select the odd one out from the following. :
(A) 23 (B) 63 ©) 17 (D) 11
18. @Wﬁﬁﬁ%ﬁ@ﬁﬁﬂﬁﬁﬁ%ﬁﬁ@ﬂtﬁﬂfﬂﬁ%ﬂ%ﬁ:ﬁ@ﬁﬁ@%ﬁ%ﬁmm
T F o R feig € 1 )
Study the following positions of a dice and determme how many dots are there on the dice face opposite
the one with three dots
A 5~
(A) 6 (B) 2 (D) Y
19. T o Y 3 g @ g R ¥ Fa, caqw WY e iy gt a6 B G ® 1 fame su ot @ form
TR Heifera ® 2
(A? Eﬁﬂ (B) #m™I (C) s .~ (D) o
Pointing to a girl, Vinod said “She is the daughter of the only sister of my father.” How is Vinod related to
the girl ?
_____ (A) Grandfather (B) Uncle (C) Cousin (D) Father
HTZ- 24 T T e s e e e e e mmmmmmmmmmmmmmmmmmmmmm—mm o=
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20. ﬁ“@gﬁéw-mﬁwqﬁ%? ]

(A) N8 &9 it gfe wer et wedt R, swam fg aft

(B) W%Wn@wﬁmmgﬁgﬁﬁ T

(C) 39 TR ! Iged ST @ | s

(D) T 3R == 3t & | &l
21, Fr=foRen & & fra vrog o o e 29

(A) Fad (B) Fifeea (C) e
22. WA TN & 3fa wiYew R

(A) E\WRTW (B) TeAtTar, 7, (C) TARY T (D) e Fr
23. B9 39 SaA & HEe o § 3 etk sadasa £ 9

(A) g@qﬁiﬁmﬁw«mﬁmmﬁlg

(B) mﬁanaﬂtﬁvhﬁwmﬁmw\y

(C) fervamaams ford =1 wemy < | £

(D) STl AT AT A1 G |
24. =gER FI ggodT : '

(A) e B A T 2 | | (B) FESX AR |

(C) Waﬁtﬁmmm%V & (D) T ! WA & &t |
25.  FER I IcAAIGAl H H1H-A1 W @ R 2

(A) IMA™E (B) aﬁwaqu:r/ (C) I @ (D) FEOTTH
26. frfafiaa & @ we st #1 aam fife: - )

(A) ARTATATMIANARRR | (B) T G R AT

(C) A A Em ATty () (D) FF I T qur A

27. ﬁﬂ%@aﬁém_m@@mmr?
(A) IEI-TE (B) mﬁlaag}/, (€) - Nkt (D) 3 - 3

28, “TUTHHST HEAWHE R : y

® T

(A) T (B) #UY ) (©) wgsife (D) &
59, <GS ¥I6Q 1 TaTT reg o T : ‘
(A) FE= (B) TEE_ ©) Y (D) Ry

-
-o

___________________________________________ Page 5 of 24
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30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

“Wﬁanamaxﬁﬁ@zﬁq—tﬁmw,a;maﬁmﬁmaréﬁg‘é’fﬁ'a” FA-H 22

(A) I * e e (B) gﬁmﬁaﬁmmﬁ?ﬁqw

(C) @& &\ U (D) T A T

e 37ef e - - R 2 ols

(A) M-\ = T AT HTgHY ( )(B) M — &N = @'F[~3T|'§%
A () Pk = T
e § A 0

(a) ferrt ®) @ <o) = (D)

farre Y gf & R et § & - fered SRR ?

(A) MRfE@r  (B) sdaw )(C) e o, (D) =% F1 IF
Rt 3 e it oY e bt & 9 :

(A) 53 (B) 50 ©) 51 (D) 52

G’ T ITAN I HH-ATE ?

(A) T B) Tt O #3 (D)

Tt e e i1 SaTeTT 2 2

(A) fagemm (B) g +(C) v e (D) A
“37e g e H R )

(A) wifud,  (B) T W i,;_:](C) qitRay (D) FEATT FTETA
forffiaa & & Y@ o 1 w9 AT -

(A) TR Y ReT FET et e | {"")(Bymwﬁﬁﬁﬁmmngémg‘mu

(€) STdRaTTet s T T gEar e | @)(D) AT 1 Tt AT Fear & | -
Sy 3 s TEET 3 RTT A P o e & e R TR 2

(A) TR/ (B) H @M

(C) Ta T (T HATerd TR (D) ! g

A H @ Qﬁ

(A) IEa” (B) #e¥ (")(C) A (D) TH=

R i & qataaT g 1 PH-AT T EE T T ?
(A) BE - AR (B) wr&dt—arfy, (7(C) Tz - A (D) YRR — &R
‘mm’ﬁﬁwdﬁm’iﬁﬁmﬁnﬁrﬁgﬁﬁ%? ]

(A) 22 (B) 12 o 13 (D) 11

25 fer fore ek T g 7 EH;

(A) STUEH (B) FH T (C) wEREH, (D) &=y
‘W’Wﬁmw%:

(a) s (B) sﬁizr/ (C) F5H (D) &R
T & PH-AT T R ?

(A) AT (B) aeqEN () FgfE (D) FHHURI 1/
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W) et ®) e () e (D) RS
frfofas ¥ & . v Jeem

(A) MR (B) =& (C) wr
TR0 37 FT: T 3T e Y et o &

(A) SHRAe-sfag (B) Fm-uiy-y (C) TAHEIE (D) FHHAAIA
‘P ITHT YA TR R

(D) Wt

(
(A) STugsHT (B) ¥, m{; (C) 3mfea (D) UTE
IR T rEREE TR R ®
&) W ®) faw W (©) g (D) 7T
frafafee f ¥ s wseRm e, W
(A) W& (B) @ < (0 W (D) TR
e’ 1 e ®TE 2 ()
(A) R ® W & () s (D) i«
SifFsnfinr @ e, e wed ®
(A) dfe s (B) W FAATY (C) YUt FqwH (D) Gfere Ida
ffefaa ar & & e arr & ST v 8 2
(A) BoFa s F = ¢y (B) Ifeef sy
(C) wifed Thel e THT & | o (D) R wgr e
Frferfiaa AT § & T ST e AT R 2
(A) ,STET ah B §, AT | v (B) FfEgwmal~
(C) dftar e vt ¥ | () (D) &S|
ol & T T T F R NR
(A) g ®) fred () (© FewEh (D) T
1. Xoy® adeX, Yy HragT? ®@
2. X3YHRAIRX, YHRTAR
3. XBY W AGRX, YFufd
4. XSYFIERX, Y fro=it?
frefurfiaa # & frem s g Rr K, HAT AR 2
1. X2Y means X is the sister of Y o3
2. X3Y means X is the son of Y ‘;; ‘v‘?'
3.  X8Y means X is the husband of Y "1_‘ i
4. X5Y means X is the wife of Y o

Which of the following means that K is the modis‘-in-law of H?
H315J3K81£:} © HZ'ISJ‘;SI—(SL ) HS5I3J8L2K

-———-—— e —————————— -



66.

67.

68.

69.

70.

1.

aya V> T
?j\\\ NeD o 1)\ a

o i /

. . {)
T 19 Sl vt 1 62 (o) o ot 8, 91 T A0 sy st AT i
Which is the 130 letter to the left of the 6th letter from the right when you write the English alph?
backward order ?

(A) 1 B) T €) H D) S

a2 et e ot 5 AT B TRAR G, i 3w W oY 20 G ¥ e e arg A R ST ?
(A) Woam_~ (B) W (C) WTrER (D) AT
If Thursday will fall on 5™ of a month, then which day will fall three days after the 20 of that month ?

(A) Sunday (B) Monday (C). Tuesday (D) Wednesday

SE wigfeat, X, v, Z, S,PWQ,@W%%WM%IFNW@@%%&%W%I‘P, Y

3R S ety & 7 A1 R, AR W @ o 321 B3t Q uwgw  fatia €1 Z, 8 G 3 p % ard
HE X kL, |

I,
h ¢

Six girls, X, Y, Z, S, P and Q, are sitting around a cir@uﬁar table. All of them are facing toward the centre
of the circle. P is not sitting between Y and S, but somgone else from the group is sitting there. P and Q
are opposite to each other. Z is to the left of S and righif fP. Who is left of P ?

(A) S B) X © v~ (D) Z ¥ S
aft # veft o & ofm A iR sgar d, A R ASs wr (e
(A) <Rt (B) Il ©€) ot (D) afit / G

If a bird flies from East to West, what direction is it flying in ?

(A) Southern (B) Northern (C)) Eastern (D) Western

$@ar 2, 5, 10,17, _ R RIRTI ol

Complete the series 2, 5,10, 17, ___ . )

A) 26 (B) 24 Q) 28 (D) 32

27 aqﬁwmwxaaﬁ%%mw%m%lgﬁm 35% %, dl x FTHH FATR 2

The cost price of 27 articles is the same as the selling p_flf:e of x articles. If the profit is 35%, then the value
of xis:

A
(A) 20/ (B) 22 %24 (D) 18

e st I 3 15 Fet s 2, R A A & i 15 et 1 g o O & 3R A e
%lﬁ:{ﬁlsm%mwﬁ'mwﬁmmw@%mwwﬁ@ R | T8 gy
srfiren foig & fohereft gr ot o o A 2 2 - -

(A) 30~/2 feret afigur.afim (w 30+/2 et Se-afam
©) 302 Pt gmgd ) 30+/2 fersft aféor-gef

.d East and d turned to the left. Agaj
A man went 15 km towards North, then turned East a,ﬁd] covered. > 'km z;{n far and in wh‘? h :;gam. after
15 km he turned to the right and covered 15 km to reach'the destination. How ich directjqy, is
he from his starting point ? < ]

) -West
(A) 30+/2 km South-West (B); 30~/2 km North-Wes
(C) 30~/2 km North-East (B)) 30+/2 km South-East

-
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58.

60.

lw\'

\C s

afE 987 1 123, 741 mﬁ369%mﬁﬁ%aﬁwwiﬁ269aﬁmmmmm?

If 987 is coded as 123, 741 as 369, then 269 will be coded as : D) 356
(A) 841~ (B) 367 (Gaes 840 (

M T 2 U @R N 15 A0S F g Ft 2, ?MO%FQ‘T/HZ#ﬁnﬁfﬁwmaﬁwiﬁﬁmOtﬁaa%qa
I R A | foheaT w5 e 2 .
(A) 39@HTS (B) 35 &S (C)t42ﬂ$0'€ (D) 37

If a train crosses a pole in 15 seconds, how long will it tﬁke for the train, travelling at @ speed of S0 ’
to cross a bridge that is 600 meters long ?

(A) 39 seconds (B) 35 seconds @ }42 seconds (D) 37 seconds
S, V@ P, § 3T Frrd, st T, MA R 3 IY, R B R

P, V ¥ fore TR Geiftrq 2 2

(A) & (B) W~ ©) fim (D) T

S is the brother-in-law of V. P is the father of S and T, who i is the father of M. V is the daughter-in-law
of R.

How is P related to V ? ()
(A) Son (B) Father-in-law (C); + Father (D) Brother

61.  =fira, frm & wwslt & Afsr el forerft et = 2 1 ﬁ=n wﬁmﬁwqﬁ%éﬁqmaﬁasﬁﬁ% | 3T |
AT AT RS 2
(A) wAgd (B) Trm (C) ‘arﬁm (D) TAT-
Namita is taller than Priya but not as tall as Madhuri. Rceha is not taller than Namita but is not the shortest.
Who among them is the third tallest ?
(A) Madhuri (B) Priya (é} Namita Reena
o (i
vL™ 9 oA
62. AT 1,2, 6,24, 120 T 3T GEATHIT & ?
In the sequence 1, 2, 6, 24, 120, what is the next number ? S \
(A) 720 /\ L .S (B) 360 (C) 480 (D) 650 >
. . N}
63. H@el 6,24, 60,120, ¥ 3Tl @& g1a FINC | ™
. { ) 0
Find the next number in the series 6, 24, 60, 120, __. ~"
e
(A) 210/ (B) 236 (Q) ;216 D) 218  H¥7 &
% SE Y& 14 Hifo | " - &t
Find the dissimilar term. 'S eI \‘”nm h
P49, T4, Z64, K9. ’ W,
(A) Zo64 (B) P49 (C) K9 (D) T4 /
65. I QU HIRAT : o
TSRS - SIETHT 22 2 : AT
(A) dfmm ®) T (C) ATEGIH (D) Frdd SrgeifraTsS
Complete the analogy :
Oxygen : Burn :: ? : Extinguish
(A) Helium (B) Hydrogen (C) Nitrogen (D) Carbog dioxide
T 72 Y S vy

Page 8 of 24
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%mwmww-wmwaﬁmmamfaﬁaaﬁﬁwﬁmww

V22014

£32013
I 2012

70
PG
) it Fi ae
757 B § 3 a1 $ e &t 2014 # fregdia 6 7 a1, 757 D F Aiat i wemn # e wiawe 2 5w
2012 = fagdro frar man a1 2
(A) 65% (B) 40% 7(C) 3333% (D) 80%

The given graph shows the number of villages nﬁfour different states where electrification was done in
different years. e

' _/

l I l |
BALE A Fornnnnn sttt e e s e s e e S e e e

................-..........'-‘.'.‘.'.'.‘.. ...................... 50
e //////////////////////// 7 S— 22014
52013
2012
A

State C

o
%rate D // //////////I//////M
tate D pooo il )

.....

0 10 20 30 40 50 60 70
Number oﬂillagcs

The number of villages in State B where electriﬁt@on was done in 2014 is what percentage of the number
of villages in State D where electrification was dopg in 2012 ?

(A) 65% (B) 40% (C) 33.33% (D) 80%
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74.

75.

76.

11.

78.

79.

80.

81.

HTZ-.24 S . .
RN ) 73 gl

R VRS ‘
I w R
. p ! "\\\ ") 1
N %ﬁmﬁm%m“mﬁ%ﬁrz%mwmq (\ A
If W i () =t | A\
is the moth . () 1\ Qs
other of X and Y, and Z is the hushand of X, then what is w /(m " ‘\‘\" )
atis Wto 27 a

(A) Uncle
(B) Mother-in-| '
-in-law ; (C) Mother
(D) Sister

T U1 919 hifre

15: 19%3@13 TR

Find the number that must be subtra aﬁqﬁﬁ ™ HIRRS 4 R ¥ S

. ® 2 cted from theterms of the ratio 15 : 19 1o make it equal to 3 A 12

HiaT it 1w Y AT W 125% AR < © - y |
% %l?ﬁa‘}mﬁmn‘\mﬁmé&ﬁqﬁmwt"

Mita’s inc i
ome is 125% more than th ita. )
at " . . g . -
of Sita. What percent is Sita’s income less than that of Mita ? e

(A) 55.55%
& (B) 2.5% (C) 124% (D 23' 0

S W st favrer faftr @ < e 2 .
o S ’ﬁa}r 37 35 s WA (HCF) o o a6ea , it sif fenirors 2 A Sl
Wh 3T ok SR 2, 4 372 B § | 9 1 W 9 i |
en w
- j calcglate the HCF of two number§ by long division method, the last divisor is 2 and the
e quotients from first to last are 2, 4 and'2 respectively. Find these two numbers. P
¢

(A) 12,16 (B) 18,40 *f?f (©) 16,20 (D) 20,24 '
{ " b ¥

< emat foatia feam # 29 fnfder 3 25 o o6 Ry @ e T 1 o v v e 1
Wﬁwwwﬁﬁﬁ6mﬁmm%§%}awﬁaﬁmﬁmmml B
(A) 907, B) 857 T4 (© 1007 (D) 110 &
Two trains are moving in the opposite direcﬁoﬂﬁglat 29 kmv/hr and 25 knv/hr. The faster train crosses a man

in the slower train in 6 seconds. Find the len ) the faster train. 3 o
(A) 90m (B) 85m “© 100m (D) 110m
f53,240ﬁrr&13atﬁﬁ10%3%3@%@%@1“)““*“?'*@@@?? >

ars at 10% compound interest (compounded annually), W}
7" at 1y

.'7\ \w
o

e \*

,\\

1 1([

™
¢

A sum of ¥ 53,240 is accumulated in 3 ye

the original amount? (©) 740,000 D
. 000 (D) 60,000
(A) %30,000 (B) 20,000 = Y 00, )
O o s B TR T g
gm%,a%asﬁaﬁaﬁaﬁaﬁmmﬁamﬁwﬂ? , g o
sricultural workers is S and that of other workers iy | ? )

%) of certain agri_
es that-of other workers, then the average monthly in¢oy,
/ €

kR
qemTd 11

The average monthly income (in {the

number of agricultural workers is 11 tm n T4y
£ all the workers 18 : : s+ T L ‘ £\
- senT oy ©
® s ) o B . a1 W ST féf?ﬂgﬁ 20, el AY HIC T | u‘ﬁlﬁ-;‘mﬁg i
Qiﬁgﬁfﬁﬁawﬁa—miﬂ?s%qﬂlﬂm < et s e A WY g,
e ot & < e A et 75% iy fe e 3 . 1 o
¥ : . -an election 75% of voters cusft‘ lhc!r votes, _nul‘ of .whll.ch 2% of the ot
Therefwerfi s l?gnildi;f;i:il;te got 9261 vOIe8 which were 75% of ol valid votes. Find the (g(q) ;l Vot ~‘mu\.
were found invalid. A € iy,
of voters enrolled. _ (©) 16,800 (D) 16,505 _~ o -
26,600 B 1600 - N

3T



82.

83.

8s.

86.

----------------------------------------- Page 12 of 24

250tﬁ.ﬁaﬁ§r )
ot By SR e i e T 1 9ot g T,

i il 6 Teeiar 8 i gfereart 1 f 20 fosfyeier 1, it =i 3 TS I A T8 e et

A) 950 _~
; :h. £ -~ (B) 1000 3. (C) 850 . (D) 7004,
ief i )
s spotted by a policeman from 250 m. When the policeman starts chasing, the thief also starts

running. If th :
o g © speed of the thief be 16 kmvhr and that of the policeman be 20 km/hr, how far would the
ief have run before he is caught ? (
g )

(A) 950m (B) 1000 m (C) 850m o (D) 700m

()

gmaﬁmmvﬁmwﬁfﬁaaﬁwwmmsafqraﬁ,aa'f‘awaﬂzammnm%m
wma%m@mzmw?rm%mﬁwﬂwﬁwwaﬁww{d

A crlckete%- had a celrtain. average of runs for his 64 innings. In his 65| inning, he is bowled out for no
score on his part. This brings down his average by 2 runs. Then what is his new average of runs ?
(A) 168 (B) 130 C) 128 -
. D) 170
© ®) (D)

31 Y ST okl ST (AT TAT) B 10% T T 4,840 B ST At Tt TidT o it 2

What is the sum of money that becomes ¥ 4,840 at 10% rate of compound interest (compounded annually)
after two years ?

(A) 1,500 B) 4,000 C) ¥4,500 .
(B) / ©) O (D) % 3,400

X 3R Y U FE o shae: 12 At ok 18ﬁﬁﬁq§rwm%|ﬁﬁq%%wmm§a%mérﬁﬂ4ﬁﬁ
3 g Y 1 SIS ST X T Ikt e ey o | e e ot ] A g g e 2

A) %éﬁﬂ ®) 10fe o sfm I o Zee

3
X and Y can complete a work in 12 days and 18 days respectively. Th/e1/ started doing the work together

but after 4 days Y had to leave and X alone completed the remaining work. In how many days was the

whole work completed ? ®
28
(A) '1'3; days (B) 10 days (C) 18 days (D) 5 dais

e 3N 40 f2t & T GO T F Frd v e < @ 3R 25 Tt it e @ | 24 R ¥ ae, 3%
it & Fop el - aeh AT A # | 1 38 fopa arfefee Tl ot FRges FT e anfe o 4 2 gecr &
o T o T 2 ol

B) 100 C) 60 L) (D) 75
(A) 70 (B) 337‘;‘/ (C) 60ed )~ (D) 75 W
A contractor undertakes to make a tunnel in 40 days and employs 25 men. After 24 days, he finds that only
one-third of the road is made. How many extra men should he employ bo that he is able to complete the
work 4 days earlier ?

(A) 70 men (B) 100 men (C) 60men () (D) 75men
____________________ ),

&
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87.

88.

89.

90.

91.

92.

93.

94.

T SHRE v e 1 G e 3 50,

; a1l
T T 10% Y O & | T PR B g i S S i 3 fre el (@
ﬁaﬁ*%ﬂ?ﬂﬁmﬁ%m?ﬁumj ﬁm%’m%%mmaﬁhﬁm%'a}

A trader Sells one item to a retaj e 0, t ch OIIIlted pt
: ll r at a 20/ d.‘i nt bll Cha (1} iSC '
i . ll ” l o discount, rges 1 %o on the di ’

: ¥ . hat
price had the trader marked the item ? 4,092 mare, thereby caming a profit of 25% A
(A) 18,600 (B) 19,40

OV, 400 (C) 719,000
T R 3 o e 4 20% Ay ’ (D) 118,004
memag 6 w%mlaﬁffs;@rf1,2ooaﬁaaﬁ%am,ah&5%wmmla‘ﬁ

A man sold an article at a loss of 20%. If h Cit :
. - 1T he could sell it for % 1,200 h fit of 5%.
What is the cost price of the article ? ? ‘ more, he Zegld mage 2 pro

(A) 7,800 (B) ¥4,700

< (C) 4,800 (D) 4,850
22 %3 %53 2* x 3% x 5 1 W EEd (HCH) 19 AT | v !

Find the HCF of 2 x 3° x 5%, 24325 |

(A) 22x3%x9 B) 22x3%x5 () (©) 2*x3%*x7 (D) 22x3%x8

90, 128, 144 =1 T HIYE (LCM) T IS |
Find the LCM of 90, 128, 144,

(A) 5764 (B) 5758 (C) 5760 (D) 5762

21 saferat it Tret JaA-fsuat srrer €, A 390 @ T 1 379 T 9a T 65% Wl % §9 H firetar @ safs
TaL A ST T 3 H 80% et 3 9 5 eI | A et Sath o o 90 H, TR AR F A 07 G
FER? ti;
The total emoluments of two persons are the ﬁai’ne, but one gets allowances to the extent of 65% of his
basic pay and the other gets allowances to the éxtent of 80% of his basic pay. The ratio of the basic pay of
the former to the basic pay of the latter is-: (1 5:4 I
(A) 12:11 (B) 16:13 .l © s: J
s ATt ifRd T T 20% F gE AR | ﬁaﬁ%ﬂwq@mu%mamiﬁm | afe T i ey
rar &, A1 AT % F4 AT | ' o |
A trader allows a discount of 20% on the mark'f‘iﬁiJ price. He still has a profit of 44% on the cost price. F ind
the profit % if he sells at the marked price. © 6 —

49% (B) 90% < Sk : .
T(;;)ﬂ"fa%:mﬁéﬁ, u ATt % 5,125 ﬁﬁfﬁﬁ@ﬁgﬂ@ﬁ‘fmﬂaa' zlaiﬂa?%ﬁ 2;/0 3
mqtaﬂtﬁahzo%aﬁrgrﬁmaaﬁmmﬁazaﬁwﬁ U ; S g

Tt feferT &1 2 )
At a village trade fair, a man buys 2 hori‘ezz(l)r;/o
profit of 25% and the camel at a los§ o

cost price of the cheaper animal was -

(A) ¥2,000 (B) 6,900 ,
Zfrm WA mﬁmﬁw%mﬁsﬁfizﬁnﬂmﬂdeﬁ
Which organization is responsible for ProviCP

dwide S © wHo . @ UNPRR
Xxo)ﬂ UNESCO B) WTO () (O WHO . e \

4 gamel for a total amount of T 5,125. H‘e sold the horse a¢ ,
o he had sold both the animals at the same price, then th,,

)

(C) 8,500 (D) 2,500
Wﬁ%mm-mmﬁ@m%?

nes and assistance for disaster risk redUCtion
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9s. ‘W@W@W’mm%@%q

q B) frdmadt  (6) mw (D) TR o

Who authored the book, “An Era of Darkness” ? ¢

(A) Pandit Sunderlal (B) Christopher Bayly ()(g)) Asaf Ali (D) Shashi Tharoor
96. G20 3§ “G” 78R 7 71 37 @ o M

",

(A) S (B) ¥ (©6) T8 (D) T

What does the letter “G” stand for in G20 Nations ? ‘

(A) General (B) Great ((4) Good (D) Group
97.  &FHT-STTRE SFTHUT 1 T8 Vot anfiae ot 7T &

(A) Sfte gaeh (B) wanRrg (&"‘3) IS (D) fcreri®

Fieldwork-based research is classified as :

(A) Biographical (B) Empirical.” © Expeﬁmenta.l‘// (D) Historical
98. S Tsgafer . IFoq FHAw i 7 AT, () Ao wahha

(A) e ud arfior &t 3 e we A ) W31 Wl & faehm@ & foe ue dise

(C) wEdi-urior r@vr yem AT B Tmfior gt 7 wredt gferemd I9eTey FHAT
The PURA scheme by the former President Dr. Abdpt¥Kalam refers to :

(A) A Plan for Urban and Rural Areas {B) A model for the growth of the metro cities
(C) Providing Urban-Rural AlignmerV (D) Providing Urban Amenities in Rural Areas

99. TS F GIH FST IEH TT HH-ATR 2

(a) o (B) T & e (D) TR

Which State is the largest producer of bajra ? C )

(A) Haryana (B) Rajasthan @) Mabharashtra (D) Gujarat
100. N TV fereTa TR I Sad o foher foret # e 2 2

(A) ETORH (B) TR (C) TewrE (D) &@r

The Narora Atomic Power Station is focated in which district of Uttar Pradesh ?

(A) Hathras (B) Hamirpur (C) Bulandshahar (D) Hardoi
101. TATEES ThTen Y SRR 31 F1 8 2 Q) ]

(Z) dfe wfefr (B) W) <R, (D) T

What is the official currency of the United Kingdom&‘g)

(A) Pound Sterling  (B) Yen ‘Q‘t) Dollar (D) Euro
102, Hiersa @R ? ]

(A) e S ETEgeH Sredl 8
(B) ﬁueﬁmﬁ%msmﬁhaﬁtmsﬁﬁawﬁi]‘
(©) g STt FTE STEIHTHETES T TN Lt & b
(D) i it Bigd! @ S

What is Greenhouse gas ?

(A) Gas that releases hydrogen

(B) Gas that emits and absorbs infrared radiation

(C) Gas that absorbs carbon dioxide

(D) Geas that releases oxyg(?;/



103. TF Gsfiepg Sgfiee T
The id t'} b 2
ldentification number given to ey o
(A) GSTIN~ B) Gsp - estered S(ugph;rg;\_
; )
- 104, E“sarﬁtﬁ*ﬁ%ﬂrﬁmﬁma&g{aaﬁ@? (D) IGST
' In which : "
) % l)éear was the Cylzlt;r) Sl;r(i)ikshlt Bharat Initiative launched ?
15
- . < (C) 2017 (D) 2018
105. T3 13 = sierchgar wifiy e 3 w0 & wrrar s 219 )
A) 11 , =
( ) aars“/ . (B) 19 ST (LC) 21 e (D) 14 FT5T
Which day is recognized as International Day of Padce ?
(A) 111 July (B) 19th Ay () t
gust L XC) 215 September D) 14" Novembe
106. R hi vgett wiee wom w9t 3 off 2 M, ‘Y ovempe
Log
(A)  HrER (B) sfewahd {)C) Wi (D) Wi T
Who was the first female Prime Minister of India 2
(A) Maya\‘)vati (B) IndiraGandhi _(C) Sonia Gandhi (D) Sarojini Naidu
107. Ffafas 8 @ - mﬁma@@awwﬁ%?
. {x . .
(A) TS Fivscw 1 widamgsd fafiee J)(B) HRHSH TS fafies
(C) g wrid wiiamgsr Freimifes fafies (D) TSRTA V2 Héamss™ U Hivwew fafies
Which of the following is the largest fertiliser producer in India ?
(A) Rashtriya Chemicals and Fertilisers Ltd. I) (B) Coromandel International Ltd.
(C) Indian Farmers Fertiliser Cooperative Limité:t‘i_i‘j (D) Gujarat State Fertilisers and Chemicals Ltd.
. ()
108. TS SRR wagor JfefTam et AL g3 ? N
. IR
(A) 10 I, 1993 1(B) 109, 1993,
(C) 28 fads, 1993 D) 12 fodsr, 1993
The Protection of Human Rights Act came into fon(:ﬂ on: N
(A) 10 October, 1993 fB) 107 July, 1993
(©) .28th S eptember, 1993 Q‘i‘(D) 127 September, 1993
109, viTee & 3ucre ST FY VT SRR e o W FQrT _
(A) FEmeAFIERC (B) RRHHT (©) ¥=ouRd ® = e )i.
The cashless economy in India has been ampllﬁe‘i{.-wfth the Indian Government's ml;f‘ vimlklndm
(A) Banking sector crisis  (B) Demonetization 5 (C) Swachh Bharat (D) Dig
110. ﬁﬁammmﬁ‘w@wﬁwﬁ’*mﬁm‘w{? —
- Y(C)  FEITER ( e
(A) WEMIA (B) = Hiedl R A 1 ?
Yilich anciehl Idian texbis kaeis O - ‘S:']encg qt(‘)yl;:::l:'lsh;l stra (D) Manusmriti
‘haraka Samhita , ASNA=RT
(A) Mahabharata (B) Chara
- ¢ Y T ) | 4
111. s dfera= & e Wﬁmfw Qe 250 (D) T 245
(A)_ 3 . 246 di (BZ: onstitution providcs(l%)r the establishment of punchayu/t:r;’idc s
Which Article of the Indian ) 3 (C) Article250 (D) ATEE s S
Article 246 (B) AmcleZ4 @ cmmmmmemm===—m == m T
_____ (A) Article 285 L CeeeememmT Page 15 of 24
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117. 50 SR FHLH TR HE IR %%ng%mﬁﬁﬂ% 2023 & e fira foa o 2

118.

119.

(]
.

R 1 e e o e e s T 22

(A) ECETl i
Whi o _ (B) 163 o (C) 257 (D) 239 12(
ch day is celebrated as Worlq Meteorological Day ?

th .
(A) 19" January (B) 16t April (C) 25t March (D) 23" March
WEI HEE  dwan )

SAC code consists of  digits.
(A) 10 Y

(B) 4 ) 5 (D) 6
*TE ¥ e T F T R S e on 2 :
(A) e e
(B) | TR 8
(C) TERITVNETRY (D)3 Ty =% s

Who was known as the ‘Iron Man of India’ ?

. { 12
(A) Bhagat S}ﬂgh (B)+, Jawaharlal Nehru

(C) Sardar Vallabhbhai Patel (D) Subhash Chandra Bose

wria 3 fafe em @ T ad d wdra yw A oft 0 1

In which year did India gain independence from British rale ? 1
(A) 1964 (B) 1945 (C) 11999 (D) 1947~

1997 F g1 T iR Siatia Gty 1 ST TE T SR 3 Saed, SR 37 ST 1 FHTE A § 2

(A) TEEHS SUER aeH (desg )

(B) =F T arer-saee dfer (@A)~

(C) o= =far adcH (dsscg )

(D) TEHTY] HAFER diY () >

Which international treaty, adopted in 1997, aims to* 8liminate the production, stockpiling and use of 1
chemical weapons ? )

(A) Chemical Weapons Convention (CWC) 1
(B) Comprehensive Nuclear-Test-Ban Treaty (CTBT) *
(C) Biological Weapons Convention (BWC) ]
(D) Nuclear Non-Proliferation Treaty (NPT)

(A) favgmaEe (B) g dge (C) | ferem aTe (D) Fe= T e

Who was nominated as the Ambassador for ‘Wap) Against Waste’ in Jammu and Kashmir
September 2023 ?

(A) Vishwanathan Anand  (B) Sachin Tendulkar (C) Vidya Balan
Sifor & TEAE F1 e B FE 2 ;
(A) DNA wfafd (B) Fli IedrEA (C) 5 Forfire wiwewror

What is the main function of ribosome in a cell ?

(D) Captain Bana Singh

(D) W dyeiwor

)

(A) DNA replication  (B) Energy production (C)\ Lipid synthesis (D) Protein synthesis

ﬁﬁﬁﬁﬁmg@mémﬁtﬁmﬂm%ﬁﬂﬁ!ﬁaﬂwﬁﬁﬁﬁmﬁwmg?
(a) fafea famam (B) & fasram O REUEELIC] (D) fafee sigam

The distribution of mangroves is mainly found in which of the following parts of the Andaman and

Nicobar group of islands ? :
(A) Little Nicobar (B) Car Nicobar (C)? North Andaman

(D) Little Andaman . -




120. NOAA %1 qaera 2 :

(A) TSt e ik AT ST (rrer it o g
(B) TSty ot ik e S rarren s v o weRfE)
(C) Fé e ¢ e (A ST e aftery 8 TR vehfire)

(D) T s 3 e T Fterr arrer siftn e 78w et
NOAA stands for : ¢y . ‘

| (A) Nati.onal Oceanic and Atmospheric Adminisiratiory
’ (B) National Oceanic and Atmospheric Assocjation.”
-i (C) No Organization At All -
(D) National Office for Arts Accreditation
121, FH-H1 IR T4 919 H TG IATGH & 2
(A) ufvay s (B) dftrerrg €) ¥«
Which Indian State is the leading producer of tea ?
(A) West Bengal (B) Tamil Nadu . (C) Kerala
122. T T Q& ARwg hi (i F T 2 L/
(A) TIEFRIF HEH-NGH HI T 1 f"i (B) affre =mm = faffir
(C) iatsdia wrea gemar Y et e ) (D) Saisd wifd i e s T
What is the role of the United Nations Security gc{yncil ?
(A) To promote cultural exchange ~, (B) Toregulate global trade
(C) To oversee international humanitarian aid } (D) To maintain international peace and security

123. wwa d, fFa aﬁiﬁwﬁfﬂrm@aﬂtaﬁmﬁnﬁ%ﬁﬁiﬁﬁqﬁ%mmmﬁ ?

(D) H8H_~

(D) Assam

(A) UAPA_~ (B) POSCO affd (C) MISA (D) DIR g
In India, which Act provided the framework to deal with unlawful and terrorist activities ?
(A) UAPA (B) POSCO Act (C) MISA (D) DIR Act
124, ATt S % &9 8 T ST ST @ 2
(A) wEEmE, (B) IR _(© = (D) If¥ere
Who is known as the ‘Father of Geometry” ? (‘1‘
©J (C) Aristotle (D) Euclid
(A) Pythagoras (B) Kepler ~ ( !
125. @ieTer vhfeaT G i AT Zed (foreT I )wmmwmﬁfﬁgwj%.
(A) ez auTfed FAT ’ v (B) gifesd IgqNTHdl sciteh T
(C) =3 1 A9 (1 (D) R Y HET -
What is the primary benefit of using analytics toeld in social media communication -
(A) Editing content (B) Blocking unwanted users
(C) Measuring performance < " (D) Scheduling posts
126 a%m%?vh%uaﬁaﬁﬁaﬁaﬁmmﬁaﬂtmm-mﬁr@mm%ﬁm‘%%mmm
3= 1 A fefan e & | , ‘ S
(A) :fgﬂaf (B) HQ-E’EFL/ (&) W‘\FT (D)

iti IS ¢ v or .(l 'hl\.‘h inCOn] > ax o
i 7 cans u"kl 18 LlLt()l"“L d tUl N
i (<] S € Cd lhl‘()Ubh lcb"l“1u‘&. m S S > t YW W

other tax is paid.
(A) New currency

(D) Black money

(B) White money (€) oud “_“r_“'_‘f‘_’ _______________________________

I -—-"
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127, STt e i s G%ﬁm)ﬁaaq.mm%m%%m%m'ﬁmﬁm?% 42

(4) TR B) Wi wmae (€)W (D) T

Which term in the Preamble of ¢ Indian Constitution signifies that India is free from any exte,
contro] ?

(A) Republic (B) Sovereign (C) Socialist (D) Secular

128. mﬁﬁw&ﬂﬁaﬁﬁaﬁqﬂwwaﬁrﬁwm%m&w%?
(A) YRATE # yaR

(B) BN AT 13m0
(C) TFFTFIYRR ( (D) HI&T #7931 ,
Which among the following plateays in India lie bgtween the Aravali and the Vindhya region ?
(A) Marwar Plateau ( ‘ (B) Chota Nagpur Plateau
(C) Deccan Plateay )

s+ (D) Malwa Plateau
129. mﬁ%mﬁ‘ﬁﬁzw’mmww%? W

(A) W@aﬁzaﬁ%ﬁm
(B) T 92 gemy
(©) 4 & T T (

(D) meﬁzﬁ@rmﬁméﬁzmw, EIRIEE R e Coy O
What does the term “content curation” refer to in social media ?
(A) Blocking unwanted content
(B) Deleting old posts

(C) Creating original content

(D) Selecting, organizing and sharing relevant content from other sources
.. i

130. uffafer 6 @i, forem ferfeeem & wif ar . wﬁ&g%ﬁmmm%:

(A) S9E 9Teh (B) 5 UwR ( (C) IR WA (D) U Fig

The discovery of penicillin, which revolutionizedjh:edicine, is attributed to :

(A) Jonas Salk (B) Louis Pasteur (1, ' (C) Alexander F leming (D) Robert Koch
131, 9RA — &9 1ieh R T e 1 R oe 2 9 -

(A) TR FRRHY S M Fe 37 s et

(B) T it s &1 C

(C) wiwpfas nfafafer s fafrafia wer (5]

(D) IR STETSAT St HH FHET

What is the importance of India — Russia Annual Summit ? '
(A) Strengthening s}rategic partnership and defence cooperation
(B) Promoting tourism o

(C) Regulating cultural activities -

(D) Reducing trade barriers (

o)
132, wsiftq w1eg 31a Hifsrg | :
AT ; 9sg ;: fawm ;9 d
(A) Ui ®) @ _ S (C) e ©) g
Find the related word. \
Prime : Composite :: Odd : ? <
(A) Integer (B) Even (C) Positive

™
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fzo 1T
Fefafes v # s Re s 3
58 & T} a7 3T 0 T T

e m wreg . “MATHEMATICS”
In the following question, you will find four aél?

.- Fl
T ST 37 7 Pt 3 3 fg e 3| 90 @ ORI
ST HHaT | 39 IT8g FY T |

. jven
. e aglVv
tional words provided as alternatives alongSId

word. One of these words cannot be forme : the letters of the given word. Identify that word.

d usiﬁ
Given word : “MATHEMATICS” "

(A) THEM (B) MATH 7 (C) MATE (D) MATTER/
AT q i .

FAFAA W ‘ l
(A) T3 (B) ¥ - (C) s i) (D) @iz (7
Complete the analogy : G4)

Dog:Kennel::Lion:“
(A) Tree (B) Den (C) Shed (D) Burrow

€ fasreg wra Hife s e g (?) 3 TIH R 3w |
Find out the alternative which will r

243:23%: 6211 , o8
&) 123 (B) 21 ;7 (C) 62
gfe

eplace the qpeg_;tion mark (?).

(D) 61°
P@a=p’+q’+2pq, pa=p’~o’-2pq% T (1@ #4 T T2

If p@q=p?+q®+2pq, P #q=p?— g2 2pq/ what is the value of (7@ 2) %42

(A) 5897 (B) 568 <1 (© 6480 (D) 493
ST H TH 98 J19 I | g
Find the missing term in the series. )
ASBC, A4CE, A3DG, _ , AIFK '
(A) A2FI (B) A2FF (C) A2EG

(D) A2EI_~

& 7 @  F He 31 Hf |

Find the missing number in the given series.
11, 15, 24, 40

? e
W) 905 5L Y EECRUP 0

q:n1svﬁaaﬁmm¥aam%,ma¢w%§ﬁizoﬁmﬁm%tﬁwwﬁzé%ﬁ@w
R fora femmE 2 9 /

<
( 1 C

(A) 23 M ofmm ] (B) 25mzzm.wf§a3A t\tﬁ

(C) 26HEAIW (D) 20 Hie 2oy )

Anna walks 15 meters south, then turns right and walks another 20 meters. How far and in which directioy, § =/ L

is she from her starting point ? (1) :

(A) 23 meters west (B) 25 meters south-west

(C) 26 meters north (D) 20 meters south e

A | ST vg e AT | -

Find the next term in the sequence. \

AB, ABB, ABBB, ABBBB, ?
(A) ABB (B) ABBB (C) ABBBB (D) ABBBBB



141. T Tt § il 1X % BT % 91 g

A.B,C,DEI
e ..”HH T dmwAAd | @RHB | a@AC —g#@AD |
waet Syl s 28 23 17 27
Nﬁmﬁﬁmﬁaﬁuﬁaﬁn
i aier o St o 14 12 8 13
e e & st e =
aﬁmqﬂmﬁwm 6 17 9 15
AT T § It B 64 55 46 76
B

e 8% T T A e 2 s A T & S e A g F  ad , Pt § §

FA-AFIATIR ?

(A) ﬁmﬁﬁmw%mmﬁ%ﬁwml

(B) Teianiden wier ferer wie off |

(C) aien e 3aferen shfe oft |

(D) ST AT ohT HISTS T T THH T |
A school has four sections A, B, C, D of Class D&;-;'tudents.

Result Section A[W Section B | Section C | Section D
Students failed in both exams 28 t 23 17 27
Students failed in half-yearly but
. 14 12 8 13

passed in annual exams
Students passed in half-yearly but

o 6 17 9 15
failed in annual exams
Students passed in both exams 64 55 46 76

In the context of comparing the difficulty level of the two examinations based on the S S
passing, which of the following statements is trug-?, number of students

(A) The two exams cannot be compared for difggﬂty level.

(B) Half-yearly exams were more difficult.

{

(C) Annual exams Were more difficult. oA

14

(D) Both the exams had almost the same difﬁciﬂty level.

s o e i T, e g & g 1w s

Which of the following diagrams best indicates the relation between India, Haryana and World ?
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m\)

(A) 25 B) 22

Analysi e e
nalysing the figure, find how many red objects are

not plastic.

Plastic —»

€—— Balls
Red——> | 3 / 9 g 7
o > 2 ( © 23 (D) 24
144, TITh 1 eI IV 34K H1hh 3 & (Freargie) 7 o7 37 e |
JTwT ~
kol
25% 0513496 ) FE [
21%] & (0
%
(A) 90° (B) 30° ; (C) 60° D) 72°
Study the graph and find the angle of sector of coffee.
Consumption P
25% ::34055: Coffee
21%4 & Tea
20%
. Water
(A) 90° (B) 30° (€) 60° (D) 72°
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VS, um ffigey g e B, afQ 98 PARTNER ®) “OZQSMDQ” & w9 # e A S R, & 3wt
y‘“ “S*“v(”\'ﬂ:N"‘” &! f%'l({ q))s a1 m ? { .('}
In a certain code language, it the word **PARTNER™ is coded as “OZQSMDQ"". then what is the cog
for the word **SEGMENT™" in that language ?
(A) RDFLDMS_~ (B) SERBCPT
(C) QWSARTH | (D) TFHNFOU
146. S rd e WV 1 IFNNT 0 Prififa srfvrsafen a8 aeet sy, Rt 0, o FEIATR, <, Fravhar
(3
e wama R s v Rawfard

Simplify the tollowing expression using the given code language, where ‘+’ represents *x’, *x’ represents

- represents =+ and ‘<" represents *+'. . ' \ 6 =\ N R .
- & ¥ o IR
l6x4+4¥1472 od8 - g ¥\
(A) 28 (B) 40 ) (C) 35 (D) 76 \ y. *\‘;’
4 VG Y
147, G e} Y T I #Q U, hewroft I FHgT, IHHT GYaT A WIS HT SeheildT ST @ |7 a8 TeHT Fheamoht & frg
e welfta & 0
(A) wT¢ (B) st { (C) ufa (D) ﬁm/
Pointing to a man, Kalyani said, “His grandson is the only son of my brother.” How is the man related to
Kalyani ? ®) ‘
(A) Brother (B) Nephew (C) Husband (D) Father

148, FrferRae wea #, st R T s & W 9w 3=y v et % w9 F Ru o # | 39 & w wse #1 R
ISR o SRR T IUINT T TEI ST ST bl | I ¥oQ Y GE=T |

foa sz | “FORMATION™ oS

In the following question, four other words are (pfovided as alternatives alongside a given word. One of
these words cannot be formed using the letters of the given word. Identify that word.
Given word : “FORMATION™ W

(A) MINOR (B) MAJOR (©) TRAIN (D) RATIO

149, e o o T8 ke A, o0 AT 3 6 ke T, R @ AR i e 4 ken Tl | 38 A, 7
aE A, 18 km Tt 3 0 e gt | vy foig 6w & swet e fobe e i e 2 0
(A) S B) ) (©) MRy~ (D) SWR-gd
Seema ran 8 km towards east, then turned left and started walking 6 km, then she turned right and walked

for 4 km. Finally, she took a right and walked for 18 km and reached her home. In which direction is hef
home located with respect to the starting point ?

(A) North (B) East (C) South-East (D) North-East

150. 3R+, = H T R+, o Hogwhar &, L 0 F e R, i o, 4+ @y awhar & 4
30+ 10+ 6—-5x6 FHARTR ?

If ‘+’ represents IR represents ‘-, ‘- represents ‘X, and ¢’ represents ‘+°. then what is the value of
30+ 10+-6-5x6"7
(A) -21 B) 12 A (©) - 10 (D) 14
---------------------- B R A
HTZ-.24 Page 22 of 24
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